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REVISION

e Sets, Relations and

TOPICS : Functions

e Complex Numbers
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Q)If{(x)+ Qf[l} =3x,x#0and

co— RS 7%6)*47[(—%):3%.———@

S={x e R: {(x)=1(—x)}; then S:

() contains exactly two elements. 7[[% T 3%( i ) >3 ( )

(b) contains more than two elements.

(¢) 1san empty set. 7l ) T 0?7[()

(d) contains exactly one element.

0 Q) ?
37‘()#37/[, - it 3 1/

7[/”)%7[//) - At/ _.@
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7%) - =249 -
§ = 7(7[/9();7[;%)?
7(/%): _"7?7- X
%/’x): %?fx
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Q) {(x)+ Zf[l} =3x,x#0and
X

S={x e R: {(x)=1(—x)}; then S:
(@) contains exactly two elements.

(b) contains more than two elements.

(c) 1san empty set.
(d) contains exactly one element.

Ans: (a)
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Q)Let R = {(3, 3) (6, 6) (9, ¢ 9) (12 12), (6, 12), (3 N,
(3 12), (3, 6)} bearelanon on the set o

A={3, 6 9, 12}. Therelation 1s
\(af)/ retlexive and transitive only
(b) retlexiveonly

(¢) anequivalence relation

. (d) reflexive and symmetric only

Aeflstee . (3,3), (6,6) (49), (5,02)
XIpometic | (1) €R - but (12,6) %/{
WQ 0
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Q)Let R = {(3, 3), (6, 6), (9, 9), (12, 12), (6, 12), (3, 9),
(3, 12), (3, 6)} bearelation on the set
A={3,6,9, 12}. Therelation 1s
(@) retlexive and transitive only
(b) reflexiveonly
(¢) anequivalence relation
(d) reflexive and symmetric only

Ans: (a)
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Q)If X and Y are two sets, then X m (X UY)° equals.

(@ X ® Y
Jf/y ¢ (d) None of these.

(AUB)C“ A B

c .

X0 (1vy) ™) De-Hovgon 4 -~ a
\(AOB)C; AC UB

- %0 (5nyY

< (xnxe) 0y’ 7 7
= Doy %@ﬁ
- ¢ B

-
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Q)If X and Y are two sets, then X m (X WY)¢ equals.

@ X b) Y
© ¢ (d) None of these.

Ans: (c)
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Q)Let f(xX)=x*+2x-5

and g(x)=5x + 30 a(f&)) =0
What are the roots of the equation
gl(f(x)] =0? (et * = 0
@1, -1 -1, =1
©11 Ao (th) = 0
ﬁ(x - 51t 0=~/ -

\NAene—
J(19) = G ra-5) = 5(r22-5) 30

= ’5:1 Flox + 4

- ;(zﬂ)l
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Q)Let f(xX)=x*+2x-5

and g(x)=>5x+ 30
What are the roots of the equation

g|(f(x)] =07
(a1, —1 (b) -1, — 1
©) 11 (d) 0, 1

Ans: (b)
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Q) If a set X contains n (n > 5) elements, then what 1s the
number of subsets of X containing less than 5 elements ?

@ Cadh-ne O Cas T

(©) ;C(\/n,r) D ;C(n’ﬂ/ (m.% elemenss % gef X)

A

\ n¢
fubsefs  iff  xero ofuenfs = D
-
I Y _/_ Y - C/
=N
/ 9 T “ CZ

4

N——
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Q) If a set X contains n (n > 5) elements, then what is the
number of subsets of X containing less than 5 elements ?

@ C@n4 b) C@®,35)
©) ZC(n,r) (d) ZC(n,r)
r=0 r=0

Ans: (d)
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QIf F(x) =

, defines a function on R, then what is its

x—4 —
domain ?
(@) (= oo, 4) U (4, =) (b) [4, )
(€) (1, 4) U (4, ) (d) [1, 4) L (4, =)
X—49 +0 L~ 20
x 4 * 2

[i,4) v (4,2)
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QIf F(x) =

x—4

domain ?

., defines a function on R, then what is its

(@) (— o0, 4) L (4, =) () [4, o)

() (1, 4) U (4, =)

Ans: (d)

(d) [1, 4) L (4, =)
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Q)For f to be a function, what is the domain of f, if

1
J(x)= ?
Vx| -x

(@ (=0 (b)) (©) (= oo, )
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Q)For f to be a function, what is the domain of f, if
1

(x)= ?
==

() (= e, 0) () (0, o) () (= oo, 00)  (d) (= e, 0)

Ans: (a)
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Q)In an examination out of 100 students, 75 passed in English

60 passed 1 Mathematics and 45 passed in both English
and Mathematics. What 1s the number of students passed

in exactly one of the two subjects?

@) 45

© 75 W/ gn/ " S"}Vd) 90

-—
-—

(b) &0

mafhe,
[ B 15) + (-]

30 + /5:
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Q)In an examination out of 100 students, 75 passed in English
60 passed 1 Mathematics and 45 passed in both English
and Mathematics. What 1s the number of students passed
in exactly one of the two subjects?

@ 45 (b) &0
(c) 75 (d) 90

Ans: (a)
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Q)LetR={x|x € N,x1samultipleof 3 andx < 100}

S={x|x € N,x1samultipleof5 and x < 100}
What 1s the number of elements i (R x.5) ~ (S X R)?

\'_\’\_/

@ 36 (b) 33
(c) 20 (& 6

A= Zcé/é,%, o 77} Commeny efements  —
0

- {5,/0//5 - /Do}
RS 22(70”%6/Pﬂ)u)¢ 74070 R/ Cetond efomunt yzre’n') Q)
$XR :{(,, u 5/ " Y /9
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Q)LetR={x|x € N,x1samultipleof 3 andx < 100}
S={x|x € N,x1samultiple of 5 and x < 100}
What 1s the number of elements i (R x.5) ~ (S X R)?

(a) 36 (b) 33
(c) 20 (d) 6

Ans: (a)
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Q)Let z, and z, be two non-zero complex numbers such that

|
_..l.._

Z1 Zp

S —

|31|=|22|= =2 r4

—
—

What is the value of | z; +z, | 7

A 8 — ® 4 /Z/~zz/ . /Z,//zz/

© 2 (d) 1

jZ?F’LZ/ / > d

Z/zz
/7/7‘22/ = 4 /Z//zz/
= A dxd :

EXAMS
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Q)Let z, and z, be two non-zero complex numbers such that

|
i i —

Z1 2y
What is the value of | z; +z, | ?

(@) 8 (b) 4
© 2 (d) 1

|21|=|32|= =2

Ans: (a)
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Q) What is one of the values of /i +./—i ?

@ 2 b) 0
1+1 1—1
- d) +-—-

(©) iﬁ (d) +J§

L= (140)" —{ = (r-0)°

3 q

(i = (48 S0 = 1=t

/3 V3
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Q) What is one of the values of /i +./—i ?

@ 2 b) 0
l1+1 l1—1
- d +——

(c) iﬁ (d) +J§

Ans: (a)
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Q)If 1, ®, @’ are the three cube roots of unity, then what

_ (aw® +bo? +co?) ) wgn = |
1S (b+cm10+am3) equal to” wgﬁ/ L @
a WAt _
@ — (b) b = 0o e
b Mu/ﬁ/odrn] ond o/rwdnﬁ d’ /
© o (d)

a %éwfcwi R VA /M
b+ cw + dw aw YL A GLM
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Q)If 1, ®, @’ are the three cube roots of unity, then what

(am6 +bw? + sz)

1S (b+ URION amg) equal to?

a
(@) N (b) b
) o d) @’

Ans: (c)
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QIf a I_H\/_ . then what is the value of 1 + a8 + a0 +
a24+a32?
@ 0 (®) 1 :
© -0 (@ - [twtes =0
0 wg: wéQ - 0}2 \w+w9’—._
=~ + V2
L
3 ). W4 WF W [+’ = =1
2y , 34 —
HWH’M*“ e 2t (1) !
[+ +w5’) f(wg) f(w) ol
- —-W

et ot Wi
S L S Bk

S—
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Q) If a=1+i\/§

2
o024 + 0329
(@ 0
() -~

Ans: (c)

, then what 1s the value of 1 + ad + 16 +

®) 1
d -’
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Q)What is 11000 4 ;1001 4 ;1002 4 ;1003 eqya] to (where
i=+-1)?
0 © i gy =
© -i @ 1 (=

[ty

9 02

447)7%? - [ = -/
(141 () RS L L
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Q)What is 11000 4 ;1001 4 ;1002 4 ;1003 eqya] to (where

i=+/~1)?
@ 0
© -

Ans: (a)

(b) 1
) 1

EXAMS
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Q)What is the square root of the complex number — 5 + 121 ?
(@) 2-31 \/(]33 2+31
() —2+3i @ J=5+/12i

_ 2 )
51128 : (az%)) - ()" 4 g

~54197 (0&_#)  20b ¢ @_Hﬁz)zz (~5‘>27L(/0?72

w azféz: 9 (,4{ a2%52.70>

Cﬁ?n/baﬁni Tea/ ¢ ;ma ;)MV /Somﬂ/ (Suzm 97f Szua)’d)
2 2 _ _p
a'é_' 2 @ @f@o’?az:g? a= 74

Q0 = 19 — _ =
%8 @ O () =3bt=185 b= +3
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Fon e @),

A6 = 19

ab > p

~— —
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Q)What is the square root of the complex number — 5 + 121 ?
(@ 2-31 (b) 2+3i

©) —2+3i d) =5 ++12i

Ans: (b)
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Q)If o is a complex number such that o + o+ 1 =0, then what
is ! equal to?

(@) o (b) o
© 0 d 1
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Q)If o is a complex number such that o + o+ 1 =0, then what
is ! equal to?

(@) o (b) o
© 0 d 1

Ans: (a)
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EXAMS

Q)The modulus and principal argument of the complex

1+2i .
number are respectively

1—(1-1i)°
(a) 1,0 (b) 1, 1 (c)2,0 (d) 2, 1
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EXAMS

Q)The modulus and principal argument of the complex

1+2i .
number are respectively

1—(1-1i)°
(a) 1,0 (b) 1, 1 (c)2,0 (d) 2, 1

Ans: (a)
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Q)Ifz is a complex number such thatz + z1 = 1, then what is
the value of 297 + z797 2

@ 1 (b) -1
©) 2 d -2
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Q)Ifz is a complex number such thatz + z1 = 1, then what is
the value of 297 + z797 2

@ 1 (b) -1
©) 2 d -2

Ans: (d)
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Q)If y = cos 0 + isin 0, then the value of y + Zis
a) 2cos® g

b) 2sin 6
c) 2cosecH
d) 2tan®
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Q)If y = cos 0 + isin 0, then the value of y + Zis
a) 2cos® g

b) 2sin 6
c) 2cosecH
d) 2tan®

Ans: (a)
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Q)IfA={xeZ: x5—1 =0}and B= {x € Z: x>+x+1=0}, where
Z 1s set of complex numbers, then what is A~ B equal to ?

(1431 —1=-4f31i
) i 2

i

(@) Null set b))
14431 —1-/31i (1431 1-4/3i
(©) ; d -'

4 4 2 2
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Q)IfA={xeZ: x5—1 =0}and B= {x € Z: x>+x+1=0}, where
Z 1s set of complex numbers, then what is A~ B equal to ?

(14431 —1=3i
(@) Null set ®) 3 T 5

—1++/3i —1-4/31i :1+J§i 1-+/3i
© : @ - =

4 4 2 2

Ans: (b)
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Q)Which one of the following is correct in respect of the
cube roots of unity?

(a) They are collinear

(b) They lie on a circle of radius +/3
(c) They form an equilateral triangle
(

d) None of the above
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Q)Which one of the following is correct in respect of the
cube roots of unity?

(a) They are collinear

(b) They lie on a circle of radius +/3
(c) They form an equilateral triangle
(

d) None of the above

Ans: (c)
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Q)If z = [

B

2

o
2

g

V3o

2 2

1maginary part of z equal to?

@ 0

3
© §

(b)

(d)

107
J jthen what 1s the

2

1
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. \107 \L07
Q)If z = [ﬁ_{_l] +(£_l] _then what 1s the

2 2 2

1maginary part of z equal to?
@ O

3
© §

Ans: (a)

2

1
®

@) 1
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Q)Letz=1%(1 +1) be a complex number. What is its argument?

@ m (b)

_p_‘t;]n 13

kid d
© -1 @
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Q)Letz=1%(1 +1) be a complex number. What is its argument?

@ m (b)

_p_‘t;]n 13

T
© - 2 (d)

Ans: (c)
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Q)If 1, w, 2 are the cube roots of unity, then the value

of (1+ @)1+ 0*)(1+o*)(1+a®) is

@ -1 ) 0
c) 1 (d) 2



NDA 2 2024 - REVISION - MATHS - CLASS 2

Q)If 1, w, 2 are the cube roots of unity, then the value

of (1+ @)1+ 0*)(1+o*)(1+a®) is

@ -1 ) 0
c) 1 (d) 2

Ans: (c)
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Q)If z° + z +1 =0, where z is complex number, then the value

of

2 2 2 2
[z+l] +(22+L2] +[z3+i3] T +[26+L6] 1S
(a) I3 (b) 4

(©) 6 (d 12
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Q)Ifz2+2z+1=0 , Where z 1s complex number, then the value

of

[z+32+(zz+z%]z+[z3+z%]2+ ......... +[z6 +ZL6]2 is
@ Is (b) 4

© 6 (d) 12

Ans: (d)
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REVISION

TOPICS : e Quadratic Equations
and Inequalities

W T2 B e Trignometric Functions
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